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printf("true = %d\tfalse
(3 * 4)
printf("Result of 3 * 4 is: %d\n", 3 * 4);
(3 * 4 12)
printf("Result of 3 * 4 == 12 is: %d\n", 3 * 4 12);

%d\n", true, false);

('b*)

printf("ASCII code of 'b' is: %d\n", 'b');
(")

printf("What is space ASCII code?\n");
("\e")

printf("****the ASCII code of \@ is @****\n");
”; printf("You will learn more about \@ in \"String\". BOOOM!");
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int 3 5 O3S 50 15 3O Cuwyd |y a0l e
int b = 0; e diS Guwyp |y pj bghs dolal jo Uls
int ¢ = printf("Condition\n");

(a b c) {

printf("Line 1 - %d is true\n", c);
} {

printf("Line 1 - Condition is not true\n");

(printf("") printf("I am true")) {
@ printf("Line 2 - Condition is true\n");
}
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